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= 1,500
Al 3,500
307 12+0I 5,000 0 5,000
= 1,500
Al 3,500
02 QI2HAE R 5,000 0 5,000
OSSOl ZSHIXNS (NLHZS2L3)
2,000,008 * 14| 2,000
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Al 1,400
OSSHHXIZ0l 2SHIXE (23R M2 ES)
3,000,008 * 14 3,000
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Al 2,100
S22l 7,200 6,000 1,200
= 3,870
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301 YerE a2 5,400 4,200 1,200
= 2,700
Al 2,700
12 JlEtR A 5,400 4,200 1,200
ORESIHWERNS N
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= 2,100
Al 2,100
ORESHNZRNS N
10,0008 * 128 * 1% 1,200
= 600
Al 600
SHSSHZHBAHE) 1,800 1,800 0
< 1,170
Al 630
301 YptBAZ 1,800 1,800 0
= 1,170
Al 630
12 JIEHR A2 1,800 1,800 0
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OZME 2TMs &IIN abl 24
70,0003 » 5% x 14 * 23| 700
307 2120l & 120,000 280,000 A 160,000
02 BIZtANE X 120,000 265,000 A 145,000
oaZI1EE ZdUz ot N&
500,000& = 10JH S Al 5,000
O=UHel 2B S, HAL, oI2)|2 o
& 5,000,000& * 43l 20,000
OMEIASIE0Y L SRS SA X
2,500,000& * 43l 10,000
O3 "HYZ" D NABBEO HSHA
2 10,000,000& * 14! 10,000
OABATIY SUDA 4% L HE T2
g2d 10,000,000& * 14| 10,000
OZSBZLLSAAHASH A2
5,000,000& * 14! 5,000
OUstd 2SS Y BIIN 2l X
# 20,000& * 1,000& 20,000
ARBZA AEISO MY N
25,000,000& = 14l 25,000
O=U L8 =2ctel 2Z0HE XA
10,000,000& * 13 10,000
O+Ed AFAY 85 OHE 2
5,000,000& * 1JHZA 5,000
oL 2SS (F) 263,440 219,040 44,400
Il 50,705
= 50,500
Al 162,235
301 LetE24 = 263,440 219,040 44,400
Il 50,705
S 50,500
Al 162,235
10 BAIAHIE2 oS 263,440 219,040 44,400
OS2 BHLA S SAIY
40,0003 = 378 » 178 263,440
Jl 50,705
= 50,500
Al 162,235
Z2AE DHE(E) 20,000 20,000 0
= 10,000
Al 10,000
307 2120l & 20,000 20,000 0
S 10,000
Al 10,000
02 YIS ExX 20,000 20,000 0
OINZ1ZZ2EE OHE X
20,000,000& =+ 14 20,000
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BB U HENY SREL
_ o e =
SA-EFH - SA(SAH) - MREAY - BES &hoh Ol Ak O R
< 10,000
Al 10,000
SH2BHLA HH2E 2,910 2,761 149
= 873
Al 2,037
201 Yer2 gyl 2,910 2,761 149
= 873
Al 2,037
02 IS 2,910 2,761 149
OS2 ol & Al 2,910,0008 * 14! 2,910
= 873
Al 2,037
SRUSSAA BBAENY L BSOHIY(2) 280,000 0 280,000
= 140,000
= 42,000
Al 98,000
308 XtXIEHH SOIH 280,000 0 280,000
=l 140,000
= 42,000
Al 98,000
05 RXIEHHIARES 280,000 0 280,000
OERUSSH ZHe ¥ BSOHY
280,000,000% * 14} 280,000
= 140,000
= 42,000
Al 98,000
BTN 862,692 3,170,734 A308,042
=l 1,000,000
o] 50,000
= 450,000
Al 362,692
SDSEHRZIN LA 282,692 222,000 60,692
201 Yer2 ) 16,692 0 16,692
01 At el 16,692 0 16,692
OTSZAL EXNABR(HEH)
23,0008 * 122 7,476
OM T A D 2X 22|
50,0002 * 184.32m 9,216
401 Al4HIL =] 266,000 184,000 82,000
01 Al&H] 266,000 182,344 83,656
Oft=dH2s42e HSSAMEE 012
24 200,000
—22 oeel 400,008 = 440m 176,000
—FeEe 24,000,000 * 14! 24,000
ORHIZ +H2INE BYTA
36,000,000 * 14! 36,000
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o2 NHEMNL () 1,000,000 1,748,734 AT48,734
500,000

150,000
350,000

= H 0¥

402 QItHE01M 1,000,000 1,748,734 AT48,734
500,000
150,000
350,000

= H o

N 1,000,000 1,748,734 AT48,734
B2t

1,000,000,000& = 14| 1,000,000
500,000
150,000
350,000

= H1 08

AUHAT S S92 ZAAMY(R) 1,000,000 1,000,000 0
500,000

150,000
350,000

= H1 08

307 2120l & 50,000 0 50,000
25,000
7,500
17,500

= H1 0

02 BIHANEX 50,000 0 50,000
=13

g S 50,000,000& =+ 14 50,000

25,000
7,500

17,500

= H1 08

401 AIEHIZ 208 450,000 600,000 A 150,000
225,000
67,500
157,500

= H o

01 Al 446,760 596,220 149,460

OABUTAUSIMHSUZ THAY(ZYS
) BLAAEH S

450,000,000 * 14} * 5.08/100 22,860

11,430

3,429

8.001

= H0e

5]

JE
>

PRt SSHMEH Y2 LAY (223
& Hl 450,000,000& = 1Al % 94.2/100 423,900
211,950
63,585
148,365

03 A&Z20HYI 3,240 3,780 2540
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el S
BE O A Y BA(RHUBB/DE)
RN (B9 @)
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
OAMANLLSHAEEE ZAANS (2L B
29) 50,000,000& * 14] = 0.72/100 3,240
2 1,620
= 486
Al 1,134
403 KX SIS K20l 500,000 400,000 100,000
= 250,000
& 75,000
Al 175,000
02 BJ|1&S0cHst 500,000 400,000 100,000
OAua Rt se XAA (2L
2 500,000,000& * 14 500,000
= 250,000
& 75,000
Al 175,000
HdESSIHES L (=) 80,000 0 80,000
J| 50,000
Al 30,000
402 212t XH=01 A 80,000 0 80,000
| 50,000
Al 30,000
01 It 22X 80,000 0 80,000
ORSH2NE4 ¥ BN &7
80,000,000& * 14 80,000
J| 50,000
Al 30,000
St COtS 22 XA M 500,000 0 500,000
& 150,000
Al 350,000
401 AIEHIZ 20 310,000 0 310,000
= 93,000
Al 217,000
01 Al&H| 310,000 0 310,000
ost=moS T
310,000,000& * 14 310,000
& 93,000
Al 217,000
402 BI2HRH20IE 190,000 0 190,000
= 57,000
Al 133,000
01 SIZtGEEX 190,000 0 190,000
(@F=ig=FSEe i[5 H
190,000,000& = 14 190,000
& 57,000
Al 133,000
sMeAAH(2HBZ) OIEH/IIE) 131,196 125,975 5,221
a2l 26,526 23,512 3,014
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SN 2B
M HHIZH| (222D (JIEH/IIEH
&l QI 2AH| (ctel: &
BE .G (B) - HREAY - BA S sk oy e 2
gl 26,526 23,512
101 el H] 26,526 23,512
03 RIAHAZZHE = 26,526 23,512
O ZoHHA 26,526
=] 40,0003 » 1 *» 249 9,960
—&0= 5,000& = 209A[2t * 100% * 43l 4,180
CEER
5,000& * 209Al2+ = 75% * 23l 1,568
— 2B 10,000& * 224 = 12& 2,640
—AlZtel 2R ey
5,000& » 150% * 15A12F « 1 * 12& 1,350
—gua2+y
40,0002 * 150% » 24 » 1YH 1,440
= 40,0003 * 52 » 1Y 2,080
—F= 52+ 40,0003 » 1€ » 12 480
—AXREF =Y 40,0003 *« 198 * 25¢ 1,000
— =l 100,000& = 1 * 128 1,200
—uwSHl 44,0002 * 18 = 123 528
— 1=l 100,000& = 19H 100
|=Z 4l 104,670 102,463
Jl=&Hl 104,670 102,463
201 Let2d| 22,070 19,863
01 AlRZ2IH| 22,070 19,863
OJ=HE AREEH| 3,120
—SAEX TYUHI(M IIF)
13,0003 * 202 A « 12& 3,120
OE2 A 5,000& * 641 » 20& » 12& 7,200
Ot =3 100,000& = 12& 1,200
O4L1E EM7YI 50,000& * 12& 600
OL72 =&l 8,750
—=SAD 2l (2 E) 500,000 * 1CH 500
—Zely =2l 100,000& = 5CH = 50/100 250
—SAMI EH 200,000& = 53 * 104 1,000
—DEHI(EY) EU
200,000& = 53] = 504 5,000
—DEgol(&et) Ed
200,000& = 53 = 1CH 1,000
—pc==cl 100,000 = 20CH * 20/100 400
—JIEt ==cldl 50,000& * 12& 600
OJIEt At 2teld] 5,000& » 20 * 123 1,200
202 044l 77,200 77,200
01 =Wl 77,200 77,200
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